
1

���������	
�

��� ����	
��
������� �� ������

��� ���������� !
��� �������"�

# $ ������%&'
��� �������"�

�� ������	
��
���������������	
����������� !"#

$�%&'&()*

+,- %&'& ���� �
��� ��� ()

�����

��������	
��
���������������
������ !�

"#��$%&'()�*+�'�,-.!/0�1�234567896:;<6�

������	
��
���

=��>?7?@A���$BCDE0���
��2F�1��G�<6�H�


�IJ2F8�
��9�K�=LMNOPQR9ST�UVW�89�<6XY6Z[

\R9A�]&�R9A^1�234_�<6�WB`a(bVbc�234_ def

g�E0�hijk��lmn��V�

�1� �����

UV<6�opqr�st�u�vw7�
�x9y�%

BAp +=ρ z1{
�A �|| �
���kg / m3
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����/MPa ����	
/�kg / m3
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/�kg / m3

�

0.1
0.32 
1= 5.2353p + 0.0816 1.00
2.00 
3= 4.9008p + 0.2465

0.32
0.70 
2= 5.0221p + 0.1517 2.00
2.60 
4= 4.9262p + 0.1992
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1.00 
3= 4.9283p + 0.2173
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�A F1(T) = (b0+b1Ã+Ä+b5Ã
5)Å10-9 

F2(T) = (c0+c1Ã+Ä+c8Ã
8)Å10-16

  F3(T) = (d0+d1Ã+Ä+d8Ã
8)Å10-23

b0 = -5.01140                 
b1 = +19.6657                 
b2 = -20.9137                
b3 = +2.32488                 
b4 = +2.67376                 
b5 = -1.62302 
p || ���Pa}
T || Æ��K}
V || ÇÈ�m3/kg 
R || É~D2�R=461J/zkgÊK{�Ã=103/T�
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c0 = -29.133164
c1 = +129.65709
c2 = -181.85576
c3 = +0.704026
c4 = 247.96718
c5 = -264.05235
c6 = +117.60724
c7 = -21.276671
c8 = +0.5248023

d0 = -34.551360
d1 = +230.69622
d2 = -657.21885
d3 = +1036.1870
d4 = -997.45125
d5 = +555.88940
d6 = -182.09871
d7 = +30.554171
d8 = -1.9917134
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